02 - ZADACI ZA NJIH - JEDNADZBE

A-grupa

Tekst svih zadataka je isti: ”Rijesi jednadzbu”.

1.5%+3—6 (Rj: 1)
2. a)?—x—-6=0; (R} —2,3) b) —2?2+22x—-1=0; (Rj: 1)
c)a?+x+1=0; (R} 28  d)222-2=0. (Rj: +1)

3.20° =52 +4x —10=0 (Rj: —2,3,4)

4. 2* =222 —15=0 (Rj: =5, +v/30)

5. 2—(Bx—(5+2)—-8=3x+2)—-1 (Rj: —2)

6. 1l mi
“—6 z-3 20 ({4

B-grupa (mozda malo teza)

Tekst svih zadataka je isti: ”Rijesi jednadzbu”.

1. x+12:—;l:c—48 (Rj: —48)

2.a)r*+3x+2=0; (Rj: —2,—-1) b) (x —3)(z +4)=0; (Rj: —4,3)
¢) 22 +4r+2=0; (Rj: —1) d) 222 +2=0. (Rj: =£i)

3. 20 + 112 +8x —21=0 (Rj: —%,—-3,1)

4. 2* 4322 - 18 =0. (Rj: £v3,£V6i)

5. (4—2)(34+2)=1—(z—3)?% (R} 4)

r—1 x+3
6. = Rj: —1
r+2 x—4 (Rj: —5)




